Bid #2021-018-6885 - Certified On-Site Interpreter Services

Creation Date Feb 17, 2021 End Date Apr 15, 2021 2:00:00 PM CDT

Start Date Feb 25, 2021 8:49:00 AM CST Awarded Date Not Yet Awarded

2021-018-688501-01 Certified Language: Spanis	sh: R	ate per hour for in pers	on hearing (2-hour n	ninimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$90.00	1 / hour	\$90.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Cert (minimum):\$180	de: ified in-person hearing	g rate for th	ne 2 hours
Visual Language Professionals LLC		First Offer - \$93.00	1 / hour	\$93.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	M	First Offer - \$94.00	1 / hour	\$94.00	Υ	Y
Product Code: Agency Notes:	<u> </u>		Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$105.00	1 / hour	\$105.00	Y	Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Spanish I	PI	

2021-018-688501-02 Certified Language: Spanis	2021-018-688501-02 Certified Language: Spanish: Rate per hour for vi					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visual Language Professionals LLC		First Offer - \$90.00	1 / hour	\$90.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	M	First Offer - \$90.00	1/hour	\$90.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$100.00	1 / hour	\$100.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Cert minimum: \$50.	de: ified virtual hearing ra	te for the 3	0 minutes
ACCENTO, The Language Company		First Offer - \$105.00	1/hour	\$105.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$170.38	1/hour	\$170.38		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Spanish \	/irtual	

2021-018-688501-03 Certified Language: Spanish: Extended Price Year 1								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$94.00	2400 / hour	\$225,600.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:		Supplier Notes:						

Visual Language Professionals LLC		First Offer - \$95.00	2400 / hour	\$228,000.00		Υ
Product Code:	Supplier Product Co	de:				
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$105.00	2400 / hour	\$252,000.00	Y	Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$190.00	2400 / hour	\$456,000.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$190.00	2400 / hour	\$456,000.00		Υ
Product Code:			Supplier Product Co	de: Certified Spanish	IPI	
Agency Notes:			Supplier Notes:			

2021-018-688501-04 Certified Language: Spanis	h: Ex	ctended Price Year 2				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	₽¥	First Offer - \$94.00	2400 / hour	\$225,600.00		Υ
			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$98.00	2400 / hour	\$235,200.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$105.00	2400 / hour	\$252,000.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$190.00	2400 / hour	\$456,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$190.00	2400 / hour	\$456,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Certified Spanish IPI Supplier Notes:			

2021-018-688501-05 Certified Language: Spanis	sh: Ex	ctended Price Year 3						
Supplier		Unit Price	Qty/Unit	Total Price	Total Price Attch.			
Access Language Center LLC	M	First Offer - \$94.00	2400 / hour	\$225,600.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$101.00	2400 / hour	\$242,400.00		Υ		
Product Code:			Supplier Product Co	de:	\$242,400.00 Y \$256,800.00 Y			
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$107.00	2400 / hour	\$256,800.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$190.00	2400 / hour	\$456,000.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$195.70	2400 / hour	\$469,680.00		Υ		
Product Code:			Supplier Product Co	de: Certified Spanish \	/ear 3			
Agency Notes:			Supplier Notes:					

2021-018-688501-06 Certified Language: Spanish: Extended Price Year 4							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$94.00	2400 / hour	\$225,600.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes: Supplier Notes:							

Visual Language Professionals LLC		First Offer - \$105.00	2400 / hour	\$252,000.00	Y
Product Code:	Supplier Product Co	de:			
Agency Notes:	Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$107.00	2400 / hour	\$256,800.00	Υ
Product Code:	Supplier Product Co	de:			
Agency Notes:			Supplier Notes:		
Interlingua USA		First Offer - \$190.00	2400 / hour	\$456,000.00	Υ
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		
Masterword Services, Inc.		First Offer - \$195.70	2400 / hour	\$469,680.00	Υ
Product Code:			Supplier Product Co	de: Certified Spanish IPI	
Agency Notes:			Supplier Notes:		

2021-018-688501-07 Certified Language: Span	ish: Total Four Year Extended P	rice					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Visual Language Professionals LLC	First Offer - \$105.00	1 / each	\$105.00		Υ		
Product Code:	Supplier Product C	ode:					
Agency Notes:		Supplier Notes:					
Interlingua USA	First Offer - \$190.00	1 / each	\$190.00		Y		
Product Code:	Supplier Product C	ode:					
Agency Notes:		Supplier Notes:					
Masterword Services, Inc.	First Offer - \$195.70	1 / each	\$195.70		Y		
Product Code:		Supplier Product C	ode: Certified Spanis	.55			
Agency Notes:		Supplier Notes:					
Access Language Center LLC	First Offer - \$902,400.00	1 / each	\$902,400.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
ACCENTO, The Language Company	First Offer - \$1,017,600.00	1 / each	\$1,017,600.00		Y		
Product Code:	Supplier Product C	ode:					
Agency Notes:		Supplier Notes:					

2021-018-688501-08 Certified Language: Spanis	sh: Er	mergency Base Price				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$90.00	1 / hour	\$90.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Access Language Center LLC	M	First Offer - \$103.40	1 / hour	\$103.40		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$105.00	1 / hour	\$105.00		Υ
Product Code:			Supplier Product Co	de:	Y	
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$130.00	1/hour	\$130.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$336.00	1 / hour	\$336.00		Y
Product Code:			Supplier Product Code: Certified Spanish ER			
Agency Notes:			Supplier Notes:			

2021-018-688501-09 Certified Language: Spanish: After-Hours Base Price								
Supplier	Unit Price Qty/Unit Total Price Attch.					Docs		
Interlingua USA		First Offer - \$90.00	1/hour	\$90.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes: Supplier Notes:								

Visual Language Professionals LLC		First Offer - \$100.00	1 / hour	\$100.00	Y
Product Code:	Supplier Product Co	de:			
Agency Notes:	Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00	Y
Product Code:	Supplier Product Co	de:			
Agency Notes:			Supplier Notes:		
Access Language Center LLC	P	First Offer - \$141.00	1 / hour	\$141.00	Y
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		
Masterword Services, Inc.		First Offer - \$262.58	1/hour	\$262.58	Y
Product Code:			Supplier Product Co	de: Certified Spanish <i>A</i>	AH
Agency Notes:			Supplier Notes:		

2021-018-688502-01 Certified Language: Vietr	ames	se: Rate per hour for in	person hearing (2-ho	ur minimum)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:			Y		
Access Language Center LLC	M	First Offer - \$128.00	1 / hour	\$128.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Υ		
Product Code:			Supplier Product Code: Certified Vietnamese IPI					
Agency Notes:			Supplier Notes:					

2021-018-688502-02 Certified Language: Vietna	mes	e: Rate per hour for vir	tual hearing (2-hour	minimum)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Y		
Product Code:			Supplier Product Co	de:		Y		
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y		
Product Code:			Supplier Product Co	7 120100				
Agency Notes:			Supplier Notes:					
Access Language Center LLC	M	First Offer - \$124.00	1 / hour	\$124.00		Y		
Product Code:			Supplier Product Co	de:	00 Y 00 Y 00 Y			
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Y		
Product Code:			Supplier Product Co	de: Certified Vietname	ese Virtual			
Agency Notes:			Supplier Notes:					

	2021-018-688502-03 Certified Language: Vietnamese: Extended Price Year 1								
	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
	First Offer - \$120.00	75 / hour	\$9,000.00		Υ				
Product Code:									
Agency Notes:									
		First Offer - \$120.00	Unit Price Qty/Unit First Offer - \$120.00 75 / hour Supplier Product Co Supplier Notes:	First Offer - \$120.00 75 / hour \$9,000.00 Supplier Product Code:	First Offer - \$120.00 75 / hour \$9,000.00 Supplier Product Code:				

Viewell and Duefording land	1 1	First Offs - #127.00	75 (#0.F3F.00	I I	v			
Visual Language Professionals LLC		First Offer - \$127.00	757 nour	\$9,525.00		<u> </u>			
Product Code:	Supplier Product Co	de:							
Agency Notes:	Supplier Notes:								
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00		Y			
Product Code:	Supplier Product Co	de:	00 Y 00 Y amese IPI						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$223.44	75 / hour	\$16,758.00		Y			
Product Code:			Supplier Product Co	lier Product Code: Certified Vietnamese IPI					
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00		Υ			
Product Code:			Supplier Product Co	lier Product Code:					
Agency Notes:			Supplier Notes:						

2021-018-688502-04 Certified Language: Vietna	mes	e: Extended Price Year	2			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ACCENTO, The Language Company		First Offer - \$120.00	75 / hour	\$9,000.00		Υ
			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$130.00	75 / hour	\$9,750.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$223.44	75 / hour	\$16,758.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Vietname	ese IPI	
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

2021-018-688502-05 Certified Language: Vietna	mes	e: Extended Price Year	3			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ACCENTO, The Language Company		First Offer - \$125.00	75 / hour	\$9,375.00		Υ
			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$135.00	75 / hour	\$10,125.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$230.14	75 / hour	\$17,260.50		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Vietname	ese IPI	
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

2021-018-688502-06 Certified Language: Vietnamese: Extended Price Year 4								
	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
	First Offer - \$125.00	75 / hour	\$9,375.00		Υ			
		Supplier Product Co	de:					
Agency Notes: Supplier Notes:								
	mes	Unit Price First Offer - \$125.00	Unit Price Qty/Unit First Offer - \$125.00 75 / hour Supplier Product Co	Unit PriceQty/UnitTotal PriceFirst Offer - \$125.0075 / hour\$9,375.00Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$125.00 75 / hour \$9,375.00 Supplier Product Code:			

Agency Notes:			Supplier Notes:				
Product Code:			Supplier Product Co	r Product Code:			
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00	Y	1	
Agency Notes:			Supplier Notes:				
Product Code:			Supplier Product Co	de: Certified Vietnam	Y ese IPI		
Masterword Services, Inc.		First Offer - \$230.14	75 / hour	\$17,260.50	Y	1	
			Supplier Notes:				
Product Code:	Supplier Product Co	de:					
Visual Language Professionals LLC		First Offer - \$140.00	75 / hour	\$10,500.00	Y	1	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:					
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00	Y	′	

2021-018-688502-07 Certified Language: Vietn	ame	se: Total Four Year Extend	ded Price				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ	
Product Code:		Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$230.14	1 / each	\$230.14		Υ	
Product Code:	Supplier Product Co	ode: Certified Vietnam	nese IPI				
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Υ	
Product Code:			Supplier Product Co	ode:	\$245.00 Y		
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$36,750.00	1 / each	\$36,750.00		Υ	
Product Code:			Supplier Product Co	ode:	\$140.00 Y \$230.14 Y ed Vietnamese IPI \$245.00 Y 86,750.00 Y		
Agency Notes:			Supplier Notes:				
Access Language Center LLC	M	First Offer - \$38,400.00	1 / each	\$38,400.00		Y	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				

2021-018-688502-08 Certified Language: Vietna	mes	e: Emergency Base Pric	:e				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Access Language Center LLC	₽	First Offer - \$140.00	1 / hour	\$140.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Y	
Product Code:			Supplier Product Co	de:	\$140.00 Y		
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$395.00	1 / hour	\$395.00		Y	
Product Code:			Supplier Product Code: Certified Vietnamese ER				
Agency Notes:			Supplier Notes:				

2021-018-688502-09 Certified Language: Vietnamese: After-Hours Base Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:		Supplier Notes:						

Agency Notes:	Supplier Notes:						
Product Code:			Supplier Product Co	Supplier Product Code: Certified Vietnamese AH			
Masterword Services, Inc.		First Offer - \$307.22	1 / hour	\$307.22	Υ		
Agency Notes:			Supplier Notes:				
Product Code:			Supplier Product Co	de:			
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ		
Agency Notes:			Supplier Notes:				
Product Code:	Supplier Product Co	de:					
Access Language Center LLC	M	First Offer - \$192.00	1 / hour	\$192.00	Y		
Agency Notes:			Supplier Notes:				
Product Code:		Supplier Product Co	de:	•			
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00	Y		

2021-018-688503-01 Certified Language: Korea	2021-018-688503-01 Certified Language: Korean: Rate per hour for in person hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:			Y				
Access Language Center LLC	PA	First Offer - \$128.00	1 / hour	\$128.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Y				
Product Code:			Supplier Product Co	de: Certified Korean If	ગ					
Agency Notes:			Supplier Notes:							

2021-018-688503-02 Certified Language: Korea	2021-018-688503-02 Certified Language: Korean: Rate per hour for virtual hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Υ				
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:								
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Y				
			Supplier Product Co Supplier Notes:	de:						
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:						
Access Language Center LLC	M	First Offer - \$124.00	1 / hour	\$124.00		Y				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:						
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Y				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Korean V	irtual					

2021-018-688503-03 Certified Language: Korean: Extended Price Year 1									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ACCENTO, The Language Company		First Offer - \$120.00	75 / hour	\$9,000.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:	Supplier Notes:								

Visual Language Professionals LLC		First Offer - \$127.00	75 / hour	\$9,525.00	Υ
Product Code:	Supplier Product Co	de:			
Agency Notes:	Supplier Notes:				
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00	Y
Product Code:	Supplier Product Co	de:			
Agency Notes:			Supplier Notes:		
Masterword Services, Inc.		First Offer - \$223.44	75 / hour	\$16,758.00	Υ
Product Code:			Supplier Product Co	de: Certified Korean IF	P
Agency Notes:			Supplier Notes:		
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00	Υ
Product Code:	Supplier Product Co	de:			
Agency Notes:	Supplier Notes:				

2021-018-688503-04 Certified Language: Korean: Extended Price Year 2									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ACCENTO, The Language Company		First Offer - \$120.00	75 / hour	\$9,000.00		Υ			
			Supplier Product Co Supplier Notes:	de:					
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00		Y			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					
Visual Language Professionals LLC		First Offer - \$130.00	75 / hour	\$9,750.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					
Masterword Services, Inc.		First Offer - \$223.44	75 / hour	\$16,758.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Korean IF	ય				
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					

2021-018-688503-05 Certified Language: Korean: Extended Price Year 3									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ACCENTO, The Language Company		First Offer - \$125.00	75 / hour	\$9,375.00		Υ			
			Supplier Product Co Supplier Notes:	de:					
Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00		Y			
			Supplier Product Co Supplier Notes:	de:					
Visual Language Professionals LLC		First Offer - \$135.00	75 / hour	\$10,125.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					
Masterword Services, Inc.		First Offer - \$223.44	75 / hour	\$16,758.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Korean IF	기				
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00		Υ			
			Supplier Product Co Supplier Notes:	de:					

2021-018-688503-06 Certified Language: Korean: Extended Price Year 4									
	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
	First Offer - \$125.00	75 / hour	\$9,375.00		Υ				
		Supplier Product Co	de:						
Agency Notes:									
	n: Ex	Unit Price First Offer - \$125.00	Unit Price Qty/Unit First Offer - \$125.00 75 / hour	Unit PriceQty/UnitTotal PriceFirst Offer - \$125.0075 / hour\$9,375.00Supplier Product Code:	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$125.0075 / hour\$9,375.00Supplier Product Code:				

Access Language Center LLC	M	First Offer - \$128.00	75 / hour	\$9,600.00		Υ		
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:						
Visual Language Professionals LLC		First Offer - \$140.00	75 / hour	\$10,500.00		Υ		
			Supplier Product Co Supplier Notes:	de:				
Masterword Services, Inc.		First Offer - \$230.14	75 / hour	\$17,260.50		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Korean II	PI	<u>'</u>		
Interlingua USA		First Offer - \$245.00	75 / hour	\$18,375.00		Υ		
			Supplier Product Co Supplier Notes:	de:				

2021-018-688503-07 Certified Language: Korean: Total Four Year Extended Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ			
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:							
Masterword Services, Inc.		First Offer - \$230.14	1 / each	\$230.14		Υ			
			Supplier Product Co Supplier Notes:	ode: Certified Korean	IPI				
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:					
ACCENTO, The Language Company		First Offer - \$36,750.00	1 / each	\$36,750.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:					
Access Language Center LLC	M	First Offer - \$38,400.00	1 / each	\$38,400.00		Y			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:					

2021-018-688503-08 Certified Language: Korean: Emergency Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ			
Product Code:			Supplier Product Co	\$135.00 Y ode: \$137.00 Y ode: \$140.00 Y					
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Υ			
Product Code:			Supplier Product Co						
Agency Notes:			Supplier Notes:						
Access Language Center LLC	M	First Offer - \$140.00	1 / hour	\$140.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$395.00	1 / hour	\$395.00		Υ			
Product Code:			Supplier Product Code: Certified Korean ER						
Agency Notes:			Supplier Notes:						

2021-018-688503-09 Certified Language: Korean: After-Hours Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:	Supplier Notes:								

Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00	Y			
Product Code:	Supplier Product Co	ier Product Code:						
Agency Notes:	Supplier Notes:							
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00	Υ			
Product Code:	Supplier Product Co	de:						
Agency Notes:			Supplier Notes:					
Access Language Center LLC	M	First Offer - \$192.00	1 / hour	\$192.00	Y			
Product Code:			Supplier Product Co	de:	.00 Y			
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$307.22	1/hour	\$307.22	Υ			
Product Code:	Supplier Product Co	de: Certified Korean A	Н					
Agency Notes:	Supplier Notes:							

2021-018-688504-01 Certified Language: Arabid	:: Rat	te per hour for in perso	n hearing (2-hour mi	nimum)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:			Y		
Access Language Center LLC	M	First Offer - \$128.00	1 / hour	\$128.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Y		
Product Code:			Supplier Product Code: Certified Arabic IPI					
Agency Notes:			Supplier Notes:					

2021-018-688504-02 Certified Language: Arabic	:: Rat	te per hour for virtual h	earing (2-hour minir	num)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:				
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ
			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	M	First Offer - \$124.00	1 / hour	\$124.00		Y
Product Code: Agency Notes:	1	1	Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Υ
			Supplier Product Code: Certified Arabic Virtual Supplier Notes:			

2021-018-688504-03 Certified Language: Arabic: Extended Price Year 1									
	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
	First Offer - \$120.00	135 / hour	\$16,200.00		Υ				
		Supplier Product Co	ode:						
Agency Notes:									
	Ext	Unit Price First Offer - \$120.00	Unit Price Qty/Unit First Offer - \$120.00 135 / hour	Unit PriceQty/UnitTotal PriceFirst Offer - \$120.00135 / hour\$16,200.00Supplier Product Code:	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$120.00135 / hour\$16,200.00Supplier Product Code:				

•								
Visual Language Professionals LLC		First Offer - \$127.00	135 / hour	\$17,145.00		Υ		
Product Code:	Supplier Product Code:							
Agency Notes:			Supplier Notes:	Notes:				
Access Language Center LLC	Ž	First Offer - \$128.00	135 / hour	\$17,280.00		Υ		
Product Code:	Supplier Product Code:							
Agency Notes:			Supplier Notes:			Y		
Masterword Services, Inc.		First Offer - \$223.44	135 / hour	\$30,164.40		Υ		
Product Code:			Supplier Product Code: Certified Arabic IPI					
Agency Notes:			Supplier Notes:		IPI			
Interlingua USA		First Offer - \$245.00	135 / hour	\$33,075.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

2021-018-688504-04 Certified Language: Arabic	: Ext	ended Price Year 2					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ACCENTO, The Language Company		First Offer - \$120.00	135 / hour	\$16,200.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Access Language Center LLC	M	First Offer - \$128.00	135 / hour	\$17,280.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$130.00	135 / hour	\$17,550.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$223.44	135 / hour	\$30,164.40		Y	
Product Code:			Supplier Product Co	de: Certified Arabic IP			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	135 / hour	\$33,075.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

2021-018-688504-05 Certified Language: Arabic	2021-018-688504-05 Certified Language: Arabic: Extended Price Year 3								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ACCENTO, The Language Company		First Offer - \$125.00	135 / hour	\$16,875.00		Υ			
			Supplier Product Co Supplier Notes:	de:					
Access Language Center LLC	M	First Offer - \$128.00	135 / hour	\$17,280.00		Y			
			Supplier Product Co Supplier Notes:	de:					
Visual Language Professionals LLC		First Offer - \$135.00	135 / hour	\$18,225.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					
Masterword Services, Inc.		First Offer - \$230.14	135 / hour	\$31,068.90		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Certified Arabic IP	l				
Interlingua USA		First Offer - \$245.00	135 / hour	\$33,075.00		Υ			
			Supplier Product Code: Supplier Notes:						

2021-018-688504-06 Certified Language: Arabic: Extended Price Year 4									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ACCENTO, The Language Company		First Offer - \$125.00	135 / hour	\$16,875.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

Access Language Center LLC	M	First Offer - \$128.00	135 / hour	\$17,280.00		Υ		
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:							
Visual Language Professionals LLC		First Offer - \$140.00	135 / hour	\$18,900.00		Υ		
Product Code:	Supplier Product Code:							
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$230.14	135 / hour	\$31,068.90		Υ		
Product Code:			Supplier Product Code: Certified Arabic IPI					
Agency Notes:			Supplier Notes:			Y		
Interlingua USA		First Offer - \$245.00	135 / hour	\$33,075.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

2021-018-688504-07 Certified Language: Arab	2021-018-688504-07 Certified Language: Arabic: Total Four Year Extended Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ				
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
Masterword Services, Inc.		First Offer - \$230.14	1 / each	\$230.14		Υ				
Product Code: Agency Notes:	Supplier Product Code: Certified Arabic IPI Supplier Notes:									
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Υ				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:						
ACCENTO, The Language Company		First Offer - \$66,150.00	1 / each	\$66,150.00		Υ				
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	Notes: \$66,150.00 Y Product Code:								
Access Language Center LLC	P	First Offer - \$69,120.00	1 / each	\$69,120.00		Y				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:						

2021-018-688504-08 Certified Language: Arabic: Emergency Base Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ		
			Supplier Product Co Supplier Notes:	de:				
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ		
			Supplier Product Code: Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				
Access Language Center LLC	M	First Offer - \$140.00	1 / hour	\$140.00		Y		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				
Masterword Services, Inc.		First Offer - \$395.00	1 / hour	\$395.00		Υ		
			Supplier Product Code: Certified Arabic ER Supplier Notes:					

2021-018-688504-09 Certified Language: Arabic: After-Hours Base Price									
Supplier	Unit Price Qty/Unit Total Price Attch.					Docs			
Interlingua USA		First Offer - \$125.00	1/hour	\$125.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:	Supplier Notes:								

Agency Notes:			Supplier Notes:			
Product Code:			Supplier Product Code: Certified Arabic AH			
Masterword Services, Inc.		First Offer - \$307.22	1 / hour	\$307.22	Y	
Agency Notes:			Supplier Notes:			
Product Code:			Supplier Product Code:			
Access Language Center LLC	M	First Offer - \$192.00	1 / hour	\$192.00	Υ	
Agency Notes:			Supplier Notes:			
Product Code:	Supplier Product Co					
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00	Y	
Agency Notes:	Supplier Notes:	ue.				
Product Code:	Supplier Product Code:					
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00	Υ	

2021-018-688505-01 Certified Language: Armer	nian	(Eastern): Rate per hou	r for in person heari	ng (2-hour minimum)	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:				
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Y
			Supplier Product Co Supplier Notes:	de: Amerian IPI		

2021-018-688505-02 Certified Language: Armer	2021-018-688505-02 Certified Language: Armenian (Eastern): Rate per hour for virtual hearing (2-hour minimum)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y			
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:							
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Y			
			Supplier Product Co Supplier Notes:	de:					
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ			
			Supplier Product Co Supplier Notes:	de:					
Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Υ			
			Supplier Product Co Supplier Notes:	de: Amerian Virtual					

2021-018-688505-03 Certified Language: Armenian (Eastern): Extended Price Year 1								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00	Υ		
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$127.00	1 / hour	\$127.00	Υ		
Product Code:	Supplier Product Code:						
			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92	Υ		
Product Code:			Supplier Product Code: Amerian IPI				
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ		
Product Code:			Supplier Product Co	upplier Product Code:			
Agency Notes:			Supplier Notes:				

2021-018-688505-04 Certified Language: Armer	nian	(Eastern): Extended Pri	ce Year 2				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$130.00	1 / hour	\$130.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Amerian IPI			
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			

2021-018-688505-05 Certified Language: Armer	nian ((Eastern): Extended Pri	ce Year 3			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:				
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:		Y		
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$183.26	1 / hour	\$183.26		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Amerian IPI		
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Y
			Supplier Product Co Supplier Notes:	de:		

2021-018-688505-06 Certified Language: Armenian (Eastern): Extended Price Year 4								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	₽	First Offer - \$89.00	1 / hour	\$89.00		Υ		
Product Code:			Supplier Product Co	de:		Y		
Agency Notes:			Supplier Notes:					

ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00	Y		
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$140.00	1 / hour	\$140.00	Υ		
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$183.26	1 / hour	\$183.26	Υ		
Product Code:			Supplier Product Co	de: Amerian IPI	Y		
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ		
Product Code:			Supplier Product Co	Code:			
Agency Notes:			Supplier Notes:				

2021-018-688505-07 Certified Language: Armenian (Eastern): Total Four Year Extended Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ		
Product Code:	Supplier Product Co	de:						
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Y		
Product Code:	Supplier Product Code: Amerian IPI							
Agency Notes:	Supplier Notes:							
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Access Language Center LLC	M	First Offer - \$356.00	1 / each	\$356.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$490.00	1 / each	\$490.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

2021-018-688505-08 Certified Language: Arme	nian	(Eastern): Emergency B	ase Price				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:) Y		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y	
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:			Y	
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Y	
Product Code:			Supplier Product Code: Amerian ER				
Agency Notes:			Supplier Notes:				

2021-018-688505-09 Certified Language: Armenian (Eastern): After-Hours Base Price							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Interlingua USA		First Offer - \$125.00	1/hour	\$125.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:	·				
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Υ	
			Supplier Product Code: Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	Y		
Masterword Services, Inc.		First Offer - \$244.64	1 / hour	\$244.64		Υ	
			Supplier Product Co Supplier Notes:	de: Amerian AH			

2021-018-688506-01 Certified Language: Armer	nian	(Western): Rate per ho	ur for in person hear	ing (2-hour minimun	n)	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Amerian IPI		

2021-018-688506-02 Certified Language: Armer	nian	(Western): Rate per ho	ur for virtual hearing	(2-hour minimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y
			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$120.00	1/hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$120.00	1/hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$120.00	1/hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Amerian IPI		

2021-018-688506-03 Certified Language: Armenian (Western): Extended Price Year 1							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y	
Product Code:	Product Code: Supplier Product Code:						
Agency Notes:			Supplier Notes:				

ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00	Υ
Product Code:	Supplier Product Co	roduct Code:			
Agency Notes:			Supplier Notes:		
Visual Language Professionals LLC		First Offer - \$127.00	1 / hour	\$127.00	Υ
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92	Υ
Product Code:			Supplier Product Co	de: Amerian IPI	
Agency Notes:			Supplier Notes:		
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		

2021-018-688506-04 Certified Language: Armo	2021-018-688506-04 Certified Language: Armenian (Western): Extended Price Year 2								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Υ			
			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ			
Product Code:			Supplier Product Co	de:	Y				
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ			
Product Code:			Supplier Product Co	de: Amerian IPI					
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

2021-018-688506-05 Certified Language: Armer	nian ((Western): Extended Pr	ice Year 3			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$183.26	1/hour	\$183.26		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Amerian IPI		
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:				

2021-018-688506-06 Certified Language: Armenian (Western): Extended Price Year 4							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	₽¥	First Offer - \$89.00	1 / hour	\$89.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes: Supplier Notes:							

ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00	Y
			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		
Visual Language Professionals LLC		First Offer - \$140.00	1 / hour	\$140.00	Υ
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		
Masterword Services, Inc.		First Offer - \$183.26	1 / hour	\$183.26	Υ
Product Code:			Supplier Product Co	de: Amerian IPI	
Agency Notes:			Supplier Notes:		
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Y
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		

2021-018-688506-07 Certified Language: Armenian (Western): Total Four Year Extended Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:			Y		
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Υ		
Product Code:			Supplier Product Co	de: Amerian IPI				
Agency Notes:			Supplier Notes:			Y		
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Access Language Center LLC	₽	First Offer - \$356.00	1 / each	\$356.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$490.00	1 / each	\$490.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

2021-018-688506-08 Certified Language: Arme	nian	(Western): Emergency	Base Price					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ		
Product Code:			Supplier Product Co	de:	\$135.00 Y			
Agency Notes:			Supplier Notes:		\$135.00 Y \$137.00 Y			
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Υ		
Product Code:			Supplier Product Code: Amerian IPI ER					
Agency Notes:			Supplier Notes:					

2021-018-688506-09 Certified Language: Armenian (Western): After-Hours Base Price							
Supplier	Unit Price Qty/Unit Total Price Attch.					Docs	
Interlingua USA		First Offer - \$125.00	1/hour	\$125.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:	Supplier Notes:						

Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50	Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00	Υ
			Supplier Product Co Supplier Notes:	de:	
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00	Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	
Masterword Services, Inc.		First Offer - \$224.64	1 / hour	\$224.64	Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Amerian IPI AH	

2021-018-688507-01 Certified Language: Canto	nese	: Rate per hour for in p	erson hearing (2-hou	ır minimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Y
			Supplier Product Code: Cantonese IPI Supplier Notes:			

2021-018-688507-02 Certified Language: Canto	nese	: Rate per hour for virt	ual hearing (2-hour n	ninimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Y
			Supplier Product Code: Cantonese Virtual Supplier Notes:			

2021-018-688507-03 Certified Language: Cantonese: Extended Price Year 1									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes: Supplier Notes:									

ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code:	Supplier Product Code:					
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$127.00	1 / hour	\$127.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Υ
Product Code:			Supplier Product Code: Cantonese IPI			
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

2021-018-688507-04 Certified Language: Canto	2021-018-688507-04 Certified Language: Cantonese: Extended Price Year 2									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Visual Language Professionals LLC		First Offer - \$130.00	1 / hour	\$130.00		Υ				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Υ				
Product Code: Agency Notes:			Supplier Product Code: Cantonese IPI Supplier Notes:							
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:						

2021-018-688507-05 Certified Language: Canto	nese	: Extended Price Year 3	1			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Y
			Supplier Product Code: Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$230.14	1 / hour	\$230.14		Υ
			Supplier Product Code: Cantonese IPI Supplier Notes:			
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ
			Supplier Product Code: Supplier Notes:			

2021-018-688507-06 Certified Language: Cantonese: Extended Price Year 4									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

ACCENTO, The Language Company		First Offer - \$125.00	1/hour	\$125.00	Y	
Product Code:	Supplier Product Code:					
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$140.00	1/hour	\$140.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$230.14	1/hour	\$230.14	Υ	
Product Code:			Supplier Product Code: Canonese IPI			
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

2021-018-688507-07 Certified Language: Cantonese: Total Four Year Extended Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$230.14	1 / each	\$230.14		Υ		
Product Code:			Supplier Product Code: Cantonese IPI					
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Access Language Center LLC	M	First Offer - \$356.00	1 / each	\$356.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$490.00	1 / each	\$490.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					

2021-018-688507-08 Certified Language: Cantonese: Emergency Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$97.50	1 / hour	\$97.50		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ			
Product Code:	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$395.00	1 / hour	\$395.00		Υ			
Product Code:			Supplier Product Code: Cantonese ER						
Agency Notes:			Supplier Notes:						

2021-018-688507-09 Certified Language: Cantonese: After-Hours Base Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					

Agency Notes:			Supplier Notes:			
Product Code:			Supplier Product Code: Cantonese AH			
Masterword Services, Inc.		First Offer - \$307.22	1 / hour	\$307.22		Y
Agency Notes:			Supplier Notes:			
Product Code:			Supplier Product Code:			
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ
Agency Notes:			Supplier Notes:			
Product Code:	Supplier Product Code:					
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Y

2021-018-688508-01 Certified Language: Japane	ese:	Rate per hour for in per	rson hearing (2-hour	minimum)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	P	First Offer - \$89.00	1/hour	\$89.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y		
Product Code:	Supplier Product Code:							
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y		
Product Code:			Supplier Product Co	de:		Y		
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Y		
Product Code:			Supplier Product Code: Japanese IPI					
Agency Notes:			Supplier Notes:					

2021-018-688508-02 Certified Language: Japane	2021-018-688508-02 Certified Language: Japanese: Rate per hour for virtual hearing (2-hour minimum)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y			
			Supplier Product Co Supplier Notes:	de:					
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Y			
			Supplier Product Co Supplier Notes:	de:					
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ			
			Supplier Product Co Supplier Notes:	de:					
Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Υ			
			Supplier Product Co Supplier Notes:	de: Japanese Virtual					

2021-018-688508-03 Certified Language: Japanese: Extended Price Year 1									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	₽¥	First Offer - \$89.00	1 / hour	\$89.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00	Y		
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$127.00	1 / hour	\$127.00	Y		
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92	Υ		
Product Code:			Supplier Product Co	,			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

2021-018-688508-04 Certified Language: Japanese: Extended Price Year 2									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	₽	First Offer - \$89.00	1 / hour	\$89.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ			
Product Code:	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code:			1 / hour \$130.00 Y Supplier Product Code:						
Agency Notes:			Supplier Notes:		Y				
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ			
Product Code:			Supplier Product Code: Japanese IPI						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

2021-018-688508-05 Certified Language: Japane	ese: I	extended Price Year 3							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y			
			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$135.00	1/hour	\$135.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$183.26	1 / hour	\$183.26		Y			
Product Code:			Supplier Product Code: Japanese IPI						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$245.00	1/hour	\$245.00		Υ			
Product Code:			Supplier Product Code:						
			Supplier Notes:						

2021-018-688508-06 Certified Language: Japanese: Extended Price Year 4									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y			
Product Code:			Supplier Product Co	de:		Y			
Agency Notes:			Supplier Notes:						

ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00	Y		
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$140.00	1 / hour	\$140.00	Υ		
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$183.26	1/hour	\$183.26	Υ		
Product Code:			Supplier Product Co	de: Japanese IPI	T		
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ		
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

2021-018-688508-07 Certified Language: Japane	ese: 1	Гotal Four Year Extende	ed Price			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Y
Product Code:			Supplier Product Code: Japanese IPI			
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Access Language Center LLC	M	First Offer - \$356.00	1 / each	\$356.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$490.00	1 / each	\$490.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

2021-018-688508-08 Certified Language: Japan	2021-018-688508-08 Certified Language: Japanese: Emergency Base Price										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Υ					
Product Code:			Supplier Product Co	de:							
Agency Notes:			Supplier Notes:								
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ					
Product Code:	Supplier Product Code:										
Agency Notes:			Supplier Notes:								
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ					
Product Code:			Supplier Product Code:								
Agency Notes:			Supplier Notes:								
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Υ					
Product Code:			Supplier Product Code:								
Agency Notes:			Supplier Notes:								
Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Y					
Product Code:			Supplier Product Code: Japanese ER								
Agency Notes:			Supplier Notes:								

2021-018-688508-09 Certified Language: Japanese: After-Hours Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$125.00	1/hour	\$125.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Υ	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:	·				
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Υ	
			Supplier Product Co Supplier Notes:	de:			
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	Y		
Masterword Services, Inc.		First Offer - \$244.64	1 / hour	\$244.64		Υ	
			Supplier Product Co Supplier Notes:	de: Japanese AH			

2021-018-688509-01 Certified Language: Manda	arin:	Rate per hour for in pe	erson hearing (2-hour	minimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:				
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Y
			Supplier Product Co Supplier Notes:	de: Mandarin IPI		

2021-018-688509-02 Certified Language: Manda	arin:	Rate per hour for virtu	al hearing (2-hour m	inimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y
			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Y
			Supplier Product Co Supplier Notes:	de: Mandarin Virtual		

2021-018-688509-03 Certified Language: Mandarin: Extended Price Year 1									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	₽	First Offer - \$89.00	30 / hour	\$2,670.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

ACCENTO, The Language Company		First Offer - \$120.00	30 / hour	\$3,600.00	Υ		
Product Code:	Supplier Product Code:						
			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$127.00	30 / hour	\$3,810.00	Υ		
Product Code:	upplier Product Code:						
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$223.44	30 / hour	\$6,703.20	Υ		
Product Code:			Supplier Product Co	Product Code: Mandarin IPI			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	30 / hour	\$7,350.00	Υ		
Product Code:			Supplier Product Code:				
			Supplier Notes:				

2021-018-688509-04 Certified Language: Mand	2021-018-688509-04 Certified Language: Mandarin: Extended Price Year 2									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Access Language Center LLC	P	First Offer - \$89.00	30 / hour	\$2,670.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:		0.00 Y					
ACCENTO, The Language Company		First Offer - \$120.00	30 / hour	\$3,600.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Visual Language Professionals LLC		First Offer - \$130.00	30 / hour	\$3,900.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Masterword Services, Inc.		First Offer - \$223.44	30 / hour	\$6,703.20		Υ				
Product Code:			Supplier Product Co	de: Mandarin IPI						
Agency Notes:			Supplier Notes:							
Interlingua USA		First Offer - \$245.00	30 / hour	\$7,350.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

2021-018-688509-05 Certified Language: Manda	arin:	Extended Price Year 3					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$89.00	30 / hour	\$2,670.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$125.00	30 / hour	\$3,750.00		Υ	
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$135.00	30 / hour	\$4,050.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$230.14	30 / hour	\$6,904.20		Υ	
Product Code:			Supplier Product Co	de: Mandarin IPI			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	30 / hour	\$7,350.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

2021-018-688509-06 Certified Language: Mandarin: Extended Price Year 4									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	30 / hour	\$2,670.00		Υ			
Product Code:			Supplier Product Co	de:		Υ			
Agency Notes:			Supplier Notes:						

ACCENTO, The Language Company		First Offer - \$125.00	30 / hour	\$3,750.00	Y		
Product Code:	Supplier Product Co	olier Product Code:					
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$140.00	30 / hour	\$4,200.00	Υ		
Product Code:	Supplier Product Co						
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$230.14	30 / hour	\$6,904.20	Υ		
Product Code:			Supplier Product Co	de: Mandarin IPI) Y		
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	30 / hour	\$7,350.00	Y		
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

2021-018-688509-07 Certified Language: Mand	arin	: Total Four Year Extende	d Price				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ	
Product Code:	Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$230.14	1 / each	\$230.14		Y	
Product Code:	Supplier Product Code: Mandarin IPI						
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Access Language Center LLC	M	First Offer - \$10,680.00	1 / each	\$10,680.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$14,700.00	1 / each	\$14,700.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:			

2021-018-688509-08 Certified Language: Mand	arin:	Emergency Base Price					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:		Y Y Y Y Y		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y	
Product Code:	Supplier Product Code:						
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Y	
Product Code:			Supplier Product Co	1100.			
Agency Notes:			Supplier Notes:		Y		
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$395.00	1 / hour	\$395.00		Y	
Product Code:			Supplier Product Code: Mandarin ER				
Agency Notes:			Supplier Notes:				

2021-018-688509-09 Certified Language: Mandarin: After-Hours Base Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Interlingua USA		First Offer - \$125.00	1/hour	\$125.00		Υ		
Product Code:			Supplier Product Code:					
			Supplier Notes:					

Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Υ		
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:						
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Υ		
			Supplier Product Co Supplier Notes:	de:				
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				
Masterword Services, Inc.		First Offer - \$307.22	1 / hour	\$307.22		Υ		
			Supplier Product Co Supplier Notes:	de: Mandarin AH				

2021-018-688510-01 Certified Language: Portu	gese:	Rate per hour for in pe	erson hearing (2-hou	r minimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Υ
			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Portugese IPI		

2021-018-688510-02 Certified Language: Portug	gese:	Rate per hour for virtu	ıal hearing (2-hour m	ninimum)		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y
Product Code:			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$120.00	1 / hour	\$120.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$190.00	1 / hour	\$190.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Portugese Virtual		

2021-018-688510-03 Certified Language: Portugese: Extended Price Year 1								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y		
Product Code: Supplier Product Code:								
Agency Notes: Supplier Notes:								

ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00	Υ		
Product Code:	Supplier Product Co	•					
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$127.00	1 / hour	\$127.00	Υ		
Product Code:	Supplier Product Co	de:					
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44	Υ		
Product Code:			Supplier Product Co	de: Portugese IPI	Y Y		
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ		
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

2021-018-688510-04 Certified Language: Portu	gese:	Extended Price Year 2					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y	
Product Code:			Supplier Product Co Supplier Notes:	de:			
Agency Notes:	Т	First Offer #120.00	<u> </u>	¢120.00			
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	, , , , , ,		Y	
Product Code:			Supplier Product Co	de:	\$120.00 Y \$130.00 Y \$223.44 Y		
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$130.00	1 / hour	\$130.00		Υ	
Product Code:			Supplier Product Co				
Agency Notes:			Supplier Notes:		00 Y 00 Y		
Masterword Services, Inc.		First Offer - \$223.44	1 / hour	\$223.44		Υ	
Product Code:			Supplier Product Co	de: Portugese IPI			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

2021-018-688510-05 Certified Language։ Portug	gese:	Extended Price Year 3				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$230.14	1 / hour	\$230.14		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Portugese IPI		
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

2021-018-688510-06 Certified Language: Portugese: Extended Price Year 4								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y		
Product Code:		Supplier Product Co	de:					
Agency Notes:			Supplier Notes:					

ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00	Y
Product Code:	Supplier Product Co	de:			
Agency Notes:			Supplier Notes:		
Visual Language Professionals LLC		First Offer - \$140.00	1 / hour	\$140.00	Υ
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		
Masterword Services, Inc.		First Offer - \$230.14	1/hour	\$230.14	Υ
Product Code:			Supplier Product Co	de: Portugese IPI	
Agency Notes:			Supplier Notes:		
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00	Υ
Product Code:			Supplier Product Co	de:	
Agency Notes:			Supplier Notes:		

2021-018-688510-07 Certified Language: Portug	gese:	Total Four Year Extend	led Price			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visual Language Professionals LLC		First Offer - \$140.00	1 / each	\$140.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$230.14	1 / each	\$230.14		Υ
Product Code:			Supplier Product Co	de: Portugese IPI		
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$245.00	1 / each	\$245.00		Υ
Product Code:			Supplier Product Co	72 10100		
Agency Notes:			Supplier Notes:			
Access Language Center LLC	M	First Offer - \$356.00	1 / each	\$356.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$490.00	1 / each	\$490.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

2021-018-688510-08 Certified Language: Portug	gese:	Emergency Base Price						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ		
Product Code:	Supplier Product Code:							
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$137.00	1 / hour	\$137.00		Υ		
Product Code:			Supplier Product Co	de:	\$137.00 Y			
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$245.00	1 / hour	\$245.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$395.00	1 / hour	\$395.00		Υ		
Product Code:	Product Code:			Supplier Product Code: Portugese ER				
Agency Notes:	Supplier Notes:							

2021-018-688510-09 Certified Language: Portugese: After-Hours Base Price							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes: Supplier Notes:							

Visual Language Professionals LLC		First Offer - \$135.00	1 / hour	\$135.00	Y	
Product Code:	Supplier Product Co	de:				
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00	Υ	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$245.00	1/hour	\$245.00	Υ	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$307.22	1 / hour	\$307.22	Υ	
Product Code:			Supplier Product Co	de: Portugese AH) T	
Agency Notes:			Supplier Notes:			

2021-018-688511-01 Certified Language: Most A			ambodian, Hmong, I	Lao, Thai, Indian, Pui	njabi, Paki	stani):
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Visual Language Professionals LLC		First Offer - \$88.00	1 / hour	\$88.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$110.00	1 / hour	\$110.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Most Asian IPI		

2021-018-688511-02 Certified Language: Most Rate per hour for virtual hearing (2-hour minim		ո Languages (Chinese, (Cambodian, Hmong,	Lao, Thai, Indian, Pui	njabi, Paki	stani):
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visual Language Professionals LLC		First Offer - \$85.00	1 / hour	\$85.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Access Language Center LLC	P	First Offer - \$85.00	1 / hour	\$85.00		Υ
			Supplier Product Code: Supplier Notes:			
Interlingua USA		First Offer - \$90.00	1 / hour	\$90.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$110.00	1 / hour	\$110.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Most Asian Virtual		

2021-018-688511-03 Certified Language: Most Asian Languages (Chinese, Cambodian, Hmong, Lao, Thai, Indian, Punjabi, Pakistani): Extended Price Year 1						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Access Language Center LLC	M	First Offer - \$89.00	90 / hour	\$8,010.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$90.00	90 / hour	\$8,100.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$110.00	90 / hour	\$9,900.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$177.92	90 / hour	\$16,012.80		Υ
Product Code:			Supplier Product Co	de: Most Asian IPI		
Agency Notes:			Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	90 / hour	\$8,010.00		Υ
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$95.00	90 / hour	\$8,550.00		Υ
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$110.00	90 / hour	\$9,900.00		Υ
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$177.92	90 / hour	\$16,012.80		Υ
Product Code:			Supplier Product Cod	de: Most Asian IPI		
Agency Notes:			Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	P	First Offer - \$89.00	90 / hour	\$8,010.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Visual Language Professionals LLC		First Offer - \$100.00	90 / hour	\$9,000.00		Υ
			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$115.00	90 / hour	\$10,350.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$183.26	90 / hour	\$16,493.40		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode: Most Asian IPI		

2021-018-6885--11-06 Certified Language: Most Asian Languages (Chinese, Cambodian, Hmong, Lao, Thai, Indian, Punjabi, Pakistani): **Extended Price Year 4 Supplier Unit Price** Qty/Unit **Total Price** Attch. Docs P Access Language Center LLC First Offer - \$89.00 90 / hour \$8,010.00 Υ **Product Code:** Supplier Product Code: **Agency Notes: Supplier Notes:** Visual Language Professionals LLC First Offer - \$105.00 90 / hour \$9,450.00 Υ **Product Code:** Supplier Product Code: **Supplier Notes:** Agency Notes: 90 / hour \$10,350.00 ACCENTO, The Language Company First Offer - \$115.00 Υ **Product Code:** Supplier Product Code: **Agency Notes: Supplier Notes:** Interlingua USA First Offer - \$177.50 90 / hour \$15,975.00 Υ Product Code: Supplier Product Code: **Supplier Notes: Agency Notes:** Masterword Services, Inc. First Offer - \$183.26 90 / hour \$16,493.40 Υ **Product Code:** Supplier Product Code: Most Asian IPI **Agency Notes: Supplier Notes:**

2021-018-688511-07 Certified Language: Most Total Four Year Extended Price	Asia	n Languages (Chinese, Ca	mbodian, Hmong, L	ao, Thai, Indian, Pur	njabi, Paki	stani):
Supplier Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visual Language Professionals LLC		First Offer - \$105.00	1 / each	\$105.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Interlingua USA		First Offer - \$177.50	1 / each	\$177.50		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode: Most Asian IPI		
Access Language Center LLC	M	First Offer - \$32,040.00	1 / each	\$32,040.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
ACCENTO, The Language Company		First Offer - \$40,500.00	1 / each	\$40,500.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$87.50	1/hour	\$87.50		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$97.00	1 / hour	\$97.00		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Access Language Center LLC	₽	First Offer - \$97.90	1 / hour	\$97.90		Y
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Υ

bid #2021-018-6885 -Certified On-Site Interpreter

Product Code:	Supplier Product Code: Most Asian ER
Agency Notes:	Supplier Notes:

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Doc
Interlingua USA		First Offer - \$87.50	1/hour	\$87.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$95.00	1 / hour	\$95.00		Υ
			Supplier Product Code Supplier Notes:	e:		
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Access Language Center LLC	M	First Offer - \$133.50	1/hour	\$133.50		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Masterword Services, Inc.		First Offer - \$244.64	1/hour	\$244.64		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e: Most Asian AH		

2021-018-688512-01 Certified Language: Most I	Midd	le Eastern Languages: I	Rate per hour for in p	person hearing (2-ho	ur minimu	m)
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$88.00	1 / hour	\$88.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Access Language Center LLC	M	First Offer - \$89.00	1/hour	\$89.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$110.00	1 / hour	\$110.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ
Product Code:			Supplier Product Co	de: Most Middle Easte	ern IPI	
Agency Notes:			Supplier Notes:			

2021-018-688512-02 Certified Language: Most	2021-018-688512-02 Certified Language: Most Middle Eastern Languages: Rate per hour for virtual hearing (2-hour minimum)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Visual Language Professionals LLC		First Offer - \$85.00	1 / hour	\$85.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$90.00	1 / hour	\$90.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$110.00	1 / hour	\$110.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Y
Product Code:	Supplier Product Code: Most Middle Eastern Virtual					
Agency Notes:	Supplier Notes:					

2021-018-688512-03 Certified Language: Most Middle Eastern Languages: Extended Price Year 1									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Visual Language Professionals LLC		First Offer - \$90.00	45 / hour	\$4,050.00		Υ			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$110.00	45 / hour	\$4,950.00		Υ			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Υ			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
Masterword Services, Inc.		First Offer - \$177.92	45 / hour	\$8,006.40		Υ			
			Supplier Product Code: Most Middle Eastern IPI Supplier Notes:						

2021-018-688512-04 Certified Language: Most Middle Eastern Languages: Extended Price Year 2									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Y			
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								
Visual Language Professionals LLC		First Offer - \$95.00	45 / hour	\$4,275.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:	Supplier Notes:								
ACCENTO, The Language Company		First Offer - \$110.00	45 / hour	\$4,950.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$177.92	45 / hour	\$8,006.40		Υ			
Product Code:			Supplier Product Code: Most Middle Eastern IPI						
Agency Notes:			Supplier Notes:						

2021-018-688512-05 Certified Language: Most Middle Eastern Languages: Extended Price Year 3									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$100.00	45 / hour	\$4,500.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$115.00	45 / hour	\$5,175.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

Masterword Services, Inc.		First Offer - \$183.26	45 / hour	\$8,246.70		Y	
Product Code:			Supplier Product Code: Most Middle Eastern IPI				
Agency Notes:			Supplier Notes:				

2021-018-688512-06 Certified Language: Most I	∕lidd	le Eastern Languages:	Extended Price Year	4		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$105.00	45 / hour	\$4,725.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$115.00	45 / hour	\$5,175.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$183.26	45 / hour	\$8,246.70		Υ
Product Code: Agency Notes:			Supplier Product Code: Most Middle Eastern IPI Supplier Notes:			

2021-018-688512-07 Certified Language: Most Middle Eastern Languages: Total Four Year Extended Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Visual Language Professionals LLC		First Offer - \$105.00	1 / each	\$105.00		Υ			
Product Code:	Supplier Product Co	ode:							
Agency Notes:	Supplier Notes:								
Interlingua USA		First Offer - \$177.50	1 / each	\$177.50		Υ			
Product Code:	Supplier Product Code:								
Agency Notes:	Supplier Notes:								
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Υ			
Product Code:			Supplier Product Code: Most Middle Eastern IPI						
Agency Notes:			Supplier Notes:						
Access Language Center LLC	M	First Offer - \$16,020.00	1 / each	\$16,020.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$20,250.00	1 / each	\$20,250.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

2021-018-688512-08 Certified Language: Most Middle Eastern Languages: Emergency Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$98.00	1 / hour	\$98.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					

Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Y	
Product Code:			Supplier Product Code: Most Middle Eastern ER				
Agency Notes:			Supplier Notes:				

2021-018-688512-09 Certified Language: Most Middle Eastern Languages: After-Hours Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$95.00	1 / hour	\$95.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Access Language Center LLC	ρŽ	First Offer - \$133.50	1 / hour	\$133.50		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$244.64	1 / hour	\$244.64		Υ			
			Supplier Product Code: Most Middle Eastern AH Supplier Notes:						

2021-018-688513-01 Certified Language: Most European Languages: Rate per hour for in person hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Visual Language Professionals LLC		First Offer - \$88.00	1 / hour	\$88.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Υ			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$110.00	1 / hour	\$110.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Y			
			Supplier Product Code: Most European IPI Supplier Notes:						

2021-018-688513-02 Certified Language: Most European Languages: Rate per hour for virtual hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Visual Language Professionals LLC		First Offer - \$85.00	1 / hour	\$85.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$90.00	1 / hour	\$90.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$110.00	1/hour	\$110.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					

Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Y	
Product Code:			Supplier Product Code: Most European Virtual				
Agency Notes:			Supplier Notes:				

2021-018-688513-03 Certified Language: Most E	uro	oean Languages: Exten	ded Price Year 1			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$90.00	45 / hour	\$4,050.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$110.00	45 / hour	\$4,950.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$177.92	45 / hour	\$8,006.40		Υ
			Supplier Product Code: Most European IPI Supplier Notes:			

2021-018-688513-04 Certified Language: Most European Languages: Extended Price Year 2									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:	Supplier Notes:								
Visual Language Professionals LLC		First Offer - \$95.00	45 / hour	\$4,275.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:	Supplier Notes:								
ACCENTO, The Language Company		First Offer - \$110.00	45 / hour	\$4,950.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$177.92	45 / hour	\$8,006.40		Y			
Product Code:			Supplier Product Code: Most European IPI						
Agency Notes:			Supplier Notes:						

2021-018-688513-05 Certified Language: Most European Languages: Extended Price Year 3									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$100.00	45 / hour	\$4,500.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$115.00	45 / hour	\$5,175.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

			Supplier Product Code: Most European IPI Supplier Notes:				
Masterword Services, Inc.		First Offer - \$183.26	45 / hour	\$8,246.70		Υ	

2021-018-688513-06 Certified Language: Most E	uro	oean Languages: Exten	ded Price Year 4			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	45 / hour	\$4,005.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$105.00	45 / hour	\$4,725.00		Υ
			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$115.00	45 / hour	\$5,175.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Interlingua USA		First Offer - \$177.50	45 / hour	\$7,987.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$183.26	45 / hour	\$8,246.70		Υ
			Supplier Product Code: Most European IPI Supplier Notes:			

2021-018-688513-07 Certified Language: Most European Languages: Total Four Year Extended Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Visual Language Professionals LLC		First Offer - \$105.00	1 / each	\$105.00		Υ			
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:							
Interlingua USA		First Offer - \$177.50	1 / each	\$177.50		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Y			
Product Code: Agency Notes:			Supplier Product Code: Most European IPI Supplier Notes:						
Access Language Center LLC	M	First Offer - \$16,020.00	1 / each	\$16,020.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$20,250.00	1 / each	\$20,250.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						

2021-018-688513-08 Certified Language: Most European Languages: Emergency Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Υ			
Product Code:	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$98.00	1 / hour	\$98.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					

Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Y	
Product Code:			Supplier Product Code: Most European ER				
Agency Notes:			Supplier Notes:				

2021-018-688513-09 Certified Language: Most European Languages: After-Hours Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$95.00	1 / hour	\$95.00		Υ			
Product Code:	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$244.64	1 / hour	\$244.64		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Most European Al	1				

2021-018-688514-01 Certified Language: Most African Languages: Rate per hour for in person hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Visual Language Professionals LLC		First Offer - \$88.00	1/hour	\$88.00		Υ			
			Supplier Product Code: Supplier Notes:						
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$110.00	1 / hour	\$110.00		Υ			
			Supplier Product Code: Supplier Notes:						
Masterword Services, Inc.		First Offer - \$177.92	1/hour	\$177.92		Υ			
			Supplier Product Code: Most African IPI Supplier Notes:						

2021-018-688514-02 Certified Language: Most African Languages: Rate per hour for virtual hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Visual Language Professionals LLC		First Offer - \$85.00	1 / hour	\$85.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$90.00	1 / hour	\$90.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$110.00	1/hour	\$110.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

Masterword Services, Inc.		First Offer - \$158.86	1 / hour	\$158.86		Y	
Product Code:			Supplier Product Code: Most African Virtual				
Agency Notes:			Supplier Notes:				

2021-018-688514-03 Certified Language: Most A	Africa	an Languages: Extende	d Price Year 1			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Access Language Center LLC	M	First Offer - \$89.00	90 / hour	\$8,010.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$90.00	90 / hour	\$8,100.00		Υ
			Supplier Product Code: Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$110.00	90 / hour	\$9,900.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Masterword Services, Inc.		First Offer - \$177.92	90 / hour	\$16,012.80		Υ
			Supplier Product Code: Most African IPI Supplier Notes:			

2021-018-688514-04 Certified Language: Most African Languages: Extended Price Year 2										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Access Language Center LLC	M	First Offer - \$89.00	90 / hour	\$8,010.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:	Supplier Notes:									
Visual Language Professionals LLC		First Offer - \$95.00	90 / hour	\$8,550.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:	Supplier Notes:									
ACCENTO, The Language Company		First Offer - \$110.00	90 / hour	\$9,900.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Y				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
Masterword Services, Inc.		First Offer - \$177.92	90 / hour	\$16,012.80		Υ				
Product Code:			Supplier Product Code: Most African IPI							
Agency Notes:			Supplier Notes:							

2021-018-688514-05 Certified Language: Most African Languages: Extended Price Year 3									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Access Language Center LLC	M	First Offer - \$89.00	90 / hour	\$8,010.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$100.00	90 / hour	\$9,000.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$115.00	90 / hour	\$10,350.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Υ			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

Masterword Services, Inc. Product Code:	First Offer - \$183.26		\$16,493.40		Y	
Agency Notes:		Supplier Product Code: Most African IPI Supplier Notes:				

2021-018-688514-06 Certified Language: Most	Afric	an Languages: Extende	d Price Year 4				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	M	First Offer - \$89.00	90 / hour	\$8,010.00		Y	
Product Code:	Supplier Product Co	de:					
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$105.00	90 / hour	\$9,450.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$115.00	90 / hour	\$10,350.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$177.50	90 / hour	\$15,975.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$183.26	90 / hour	\$16,493.40		Υ	
Product Code:			Supplier Product Co	de: Most African IPI			
Agency Notes:			Supplier Notes:				

2021-018-688514-07 Certified Language: Most	2021-018-688514-07 Certified Language: Most African Languages: Total Four Year Extended Price										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Visual Language Professionals LLC		First Offer - \$105.00	1 / each	\$105.00		Υ					
Product Code:			Supplier Product Co	ode:							
Agency Notes:	Supplier Notes:										
Interlingua USA		First Offer - \$177.50	1 / each	\$177.50		Y					
Product Code:	Supplier Product Code:										
Agency Notes:	Supplier Notes:										
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Y					
Product Code:			Supplier Product Code: Most African IPI								
Agency Notes:			Supplier Notes:								
Access Language Center LLC	M	First Offer - \$32,040.00	1 / each	\$32,040.00		Y					
Product Code:			Supplier Product Code:								
Agency Notes:			Supplier Notes:								
ACCENTO, The Language Company		First Offer - \$40,500.00	1 / each	\$40,500.00		Y					
Product Code:			Supplier Product Code:								
Agency Notes:			Supplier Notes:								

2021-018-688514-08 Certified Language: Most African Languages: Emergency Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$97.90	1/hour	\$97.90		Υ			
Product Code:	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$98.00	1 / hour	\$98.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:					

Masterword Services, Inc.		First Offer - \$314.54	1 / hour	\$314.54		Y	
Product Code:			Supplier Product Code: Most African ER				
Agency Notes:			Supplier Notes:				

2021-018-688514-09 Certified Language: Most African Languages: After-Hours Base Price									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$87.50	1 / hour	\$87.50		Υ			
Product Code:			Supplier Product Co	de:					
			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$95.00	1 / hour	\$95.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$130.00	1 / hour	\$130.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Masterword Services, Inc.		First Offer - \$244.64	1 / hour	\$244.64		Υ			
Product Code:			Supplier Product Code: Most African AH						
Agency Notes:			Supplier Notes:						

2021-018-688515-01 Certified Language: Unique Languages: Rate per hour for in person hearing (2-hour minimum)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Interlingua USA		First Offer - \$80.00	1 / hour	\$80.00		Υ				
Product Code:	Supplier Product Co	de:								
Agency Notes:			Supplier Notes:							
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Visual Language Professionals LLC		First Offer - \$90.00	1 / hour	\$90.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
ACCENTO, The Language Company		First Offer - \$120.00	1/hour	\$120.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ				
Product Code:			Supplier Product Code: Unique Languages IPI							
Agency Notes:			Supplier Notes:							

2021-018-688515-02 Certified Language: Unique Languages: Rate per hour for virtual hearing (2-hour minimum)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interlingua USA		First Offer - \$40.00	1 / hour	\$40.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Access Language Center LLC	M	First Offer - \$85.00	1 / hour	\$85.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Visual Language Professionals LLC		First Offer - \$88.00	1 / hour	\$88.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
ACCENTO, The Language Company		First Offer - \$120.00	1/hour	\$120.00		Y			
Product Code:			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

Masterword Services, Inc.		First Offer - \$158.86	1/hour	\$158.86		Y
Product Code: Supplier Product Code: Unique Lar					s Virtual	
Agency Notes:			Supplier Notes:			

2021-018-688515-03 Certified Language: Uniqu	e Lai	nguages: Extended Pric	e Year 1				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	₽¥	First Offer - \$89.00	1 / hour	\$89.00		Υ	
			Supplier Product Co Supplier Notes:	ode:			
Visual Language Professionals LLC		First Offer - \$95.00	1 / hour	\$95.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	r \$120.00 Y r Product Code: r Notes:			
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Unique Language:	s IPI		

2021-018-688515-04 Certified Language: Uniqu	021-018-688515-04 Certified Language: Unique Languages: Extended Price Year 2							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$89.00	1/hour	\$89.00		Υ		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$100.00	1 / hour	\$100.00		Υ		
Product Code:			Supplier Product Co	pplier Product Code:				
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$120.00	1 / hour	\$120.00		Υ		
Product Code:			Supplier Notes: 1 / hour \$120.00 Y Supplier Product Code: Supplier Notes: 1 / hour \$120.00 Y Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Masterword Services, Inc.		First Offer - \$177.92	1 / hour	\$177.92		Υ		
Product Code:			Supplier Product Co	de: Unique Language:	s IPI			
Agency Notes:			Supplier Notes:					

2021-018-688515-05 Certified Language: Unique Languages: Extended Price Year 3								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Access Language Center LLC	M	First Offer - \$89.00	1 / hour	\$89.00		Y		
			Supplier Product Co Supplier Notes:	de:	\$105.00 Y			
Visual Language Professionals LLC		First Offer - \$105.00	1 / hour	\$105.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Y		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:	_			

Masterword Services, Inc.		First Offer - \$183.26	1 / hour	\$183.26		Υ
Product Code:		Supplier Product Code: Unique Languages IPI				
Agency Notes:			Supplier Notes:			

2021-018-688515-06 Certified Language: Unique Languages: Extended Price Year 4							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Access Language Center LLC	₽	First Offer - \$89.00	1 / hour	\$89.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Visual Language Professionals LLC		First Offer - \$110.00	1 / hour	\$110.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Interlingua USA		First Offer - \$120.00	1 / hour	\$120.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
ACCENTO, The Language Company		First Offer - \$125.00	1 / hour	\$125.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Masterword Services, Inc.		First Offer - \$183.26	1 / hour	\$183.26		Y	
Product Code:			Supplier Product Code: Unique Languages IPI				
Agency Notes:			Supplier Notes:				

2021-018-688515-07 Certified Language: Unique Languages: Total Four Year Extended Price						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visual Language Professionals LLC		First Offer - \$110.00	1 / each	\$110.00		Υ
			Supplier Product Co Supplier Notes:	de:		
Interlingua USA		First Offer - \$120.00	1 / each	\$120.00		Υ
			Supplier Product Co Supplier Notes:	pplier Product Code: pplier Notes:		
Masterword Services, Inc.		First Offer - \$183.26	1 / each	\$183.26		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de: Unique Language:	s IPI	
Access Language Center LLC	M	First Offer - \$356.00	1 / each	\$356.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
ACCENTO, The Language Company		First Offer - \$490.00	1 / each	\$490.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

2021-018-688515-08 Certified Language: Unique Languages: Emergency Base Price								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Interlingua USA		First Offer - \$80.00	1 / hour	\$80.00		Y		
			Supplier Product Co Supplier Notes:	de:				
Access Language Center LLC	M	First Offer - \$97.90	1 / hour	\$97.90		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Visual Language Professionals LLC		First Offer - \$100.00	1 / hour	\$100.00		Y		
Product Code:			Supplier Product Co	de:				
Agency Notes:			Supplier Notes:					
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				

Masterword Services, Inc.	First Offer - \$314.54	1 / hour	\$314.54		Y		
Product Code:	Supplier Product Co	de: Unique Language	s ER				
Agency Notes:		Supplier Notes:					

2021-018-688515-09 Certified Language: Uniqu	e La	nguages: After-Hours B	ase Price			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$80.00	1 / hour	\$80.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$100.00	1 / hour	\$100.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Access Language Center LLC	M	First Offer - \$133.50	1 / hour	\$133.50		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$135.00	1 / hour	\$135.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$244.64	1 / hour	\$244.64		Υ
Product Code:			Supplier Product Code: Unique Languages AH			
Agency Notes:			Supplier Notes:			

2021-018-688516-01 All other languages p	Please list all languages	s provided that are not otherwise listed				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interlingua USA		First Offer - \$80.00	1 / each	\$80.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Access Language Center LLC	₽	First Offer - \$89.00	1 / each	\$89.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Visual Language Professionals LLC		First Offer - \$90.00	1 / each	\$90.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
ACCENTO, The Language Company		First Offer - \$110.00	1 / each	\$110.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Masterword Services, Inc.		First Offer - \$177.92	1 / each	\$177.92		Υ
Product Code:			Supplier Product Code: All other languages			
Agency Notes:			Supplier Notes: All o	ther languages to be o	quotes upo	n reques

Supplier Totals

f Visual Language Professionals LLC	\$1,242,417.00 (136/136 items	5)
Bid Contact Ashley Pointon ashley@visuallanguagepro.com Ph 832-564-0844	Address 957 Nasa Pkwy #914, No 91 Houston, TX 77058	4
Agency Notes:	Supplier Notes:	Head Attch:
f Access Language Center LLC	\$2,321,240.40 (136/136 item	ıs)
Bid Contact Gerda Stendell stendell@accesslc.net Ph 972-808-0100	Address 1221 W. Campbell Rd., Suite 261 Richardson, TX 75080	

Agency Not	es:	Supplier Notes:	Head Attch:
f Interlingua USA		\$2,340,080.00 (136/136 items)	
Bid Contact	Rosa Hernandez rosa@interlinguausa.com Ph 972-818-3455 Fax 972-818-3742	Address 16801 Addison Rd, STE 110 Addison, TX 75001	
Agency Not	es:	Supplier Notes:	Head Attch:
f Masterwo	ord Services, Inc.	\$2,354,375.00 (136/136 items)	
Bid Contact	Ludmila Golovine contracts@masterword.com Ph 281-589-0810	Address 303 Stafford St. Houston, TX 77079	
Agency Notes:		Supplier Notes: H	ead Attch:
f ACCENTO, The Language Company		\$2,600,380.00 (136/136	items)
Bid Contact	Michael Mahler mmahler@accento.com Ph 972-242-4500	Address 1011 S. Broadway, Suite 220 Carrollton, TX 75006	
Bid Notes	Notes The "Total Four Year Extended Price" has been calculated by adding all 4 year total price. *The languages with 1hr per year do not reflect an accurate total since service is provided by 2hr minimum.		
Agency Notes:		Supplier Notes: The "Total Four Year Extended Price" has calculated by adding all 4 year total price *The languages with 1hr per year do not reflect an accurate total since service is provided by 2hr minimum.	e. Ú

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.